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Vocal cords occur i

(a) pharynx (b) glottis
() bronchial tnbe () larynx
Aus 1 {d) lorynx

What 15 the mode of nutition in fungi?

() Antotrophic (b) Heteratrophic

() Saprophytic (d) Parasitic

Ans : (¢) Saprophytic

Fungal organisms feed on desd matter. They release
chemicals to break complex organic matrey into stmple
forms und wbsorb them. This i called saprophytic
mde of imtrition

How mnny paus of salivary glands are found in
hunans”

(n) Two (b)) Three
() Six () Four
Ane 2 (b) Three

There are three pmirs of salivary glands presemt in
humans, namely the parotid gland, submandibulas
und sublingual glands.

The diagram shows the srrangement of celis inside
the: leaf of o green plant. (No cell contents ave shown)
Which cells normally contain chloroplosts?

(a) 1and?2 () 1L and 4
(c) 2and 3 (d) 2 and 4
Ans ¢ (d) 2 and 4

The pulisade mesophyvil cell (2) and guard cell (1)
contain chlaroplaste that sbsorbe sunhght. Most of
the chlotoplasts are concentrated in the palissda cells
to swhsorh maxivmm amount of sunhght requived for

photasynthesis.

In the cardiac cycle, dmstole s
(a) The number of heart beats per minate

(b) The elaxation period after contraction of the
heart

(¢} The forceful purmpimg action of the heart

(d) The contraction period after reloxstion of the
henit.

Ans : (b) The rvelasstion period after contynction of
the heart

Blaod vessel carry blood from limgs to heart through:
(a) Pulmonary srtery (b) Pulmonary vein

(¢) Coronory artery {d) None of these

Aus : (b) Pulmonary vein

Which of the following structures s mvolved m

- gascous exchange in woody stem of a plant?

(a) Stomata (b) Lenticel
(¢) Guard cell (d) Epidermis
Auns ¢t (b) Lenticel

The suard cells regulate the opening and closing of
stonata to maintain the low of respiratory as well
as photosynthetic gases (COy and Oy) in the plants,

Which substances are produced by anaerobic
respiraiion m yesst?

Carbon Aleohol | Lactic Wator
dioxide Acid

fa) | v x *

(L) | x v x

(¢) | % v X v

(d) |x X Y v

Kev ¢ = produced, x = not produced

Ans : (a)

During anaerobic  respirstion  in yesst,  following
auation shows the products synthesised:
(:gH.nOg g 203“50“ + ’ECO,

Which cell organelle 1 mvolved m breakdown of
ghicose to produce energy for metabolic activities?
(1) Mitochondria (b) Chloreplast

(v) Endaplasmic reticulum  (d) Golm bedy

Aus ¢ (s) Mitochondrin

Mitochondria performs the cellular vespiration i
which the glucose s broken down te liberate energy m
the form of ATT for other metabolic activities.

. From which structure, the free oxygen gas produced

during photosynthesis is relensed”
(a) Epidermis (b} Stomata

B .
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{c) Cortex
Aus: (b) Stomata

The oxygen gas praduced duving photosynthess i
released mto the surroundings throngh stomata

(d) Guard cell

A plant & kept m the dark for two days. A leal s
used I an experiment. to investigate the effect of two
factors on photosyntheas as shown in the dingram

What are the colowrs of @ and K. when the leaf is
tested for sturch, wsing iodine sohition?

Q R
{a) | Blue/black Brown
(b) | Brown Brown
(e) | Blue/black Blue /black
(d) | Brown Blue/black

Ans : (b) Q-Brown, B-Biown

Some alkali solution iz kept in the flask, which absorbs
CO4. 50 no photosynthess ocours and apical Tegiom of
Teaf will show negative results for starch test. Part @
of leaf remnains m dark watlan the eut part of cork and
no phatosynthesis oconrs heve It also shows negative
result of starch test.

Villi presemt. on the mternal wall of mntestine help in
the

(a) enmlsification of fats

() hreakdown of proteing

() absorption of digested food

(d} digestion of carbobydrates

Ans ¢ (¢) absorption of digested food

The small finger-like projections. ie vill present
in intenstine increase the surface area for better
ahsorption of digested food

The diagram represents a section through the small
intestine,

What is the role of the structure labelled X7
(a) They help to mova the foud along
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(b) They make & large swrface area for absorption
(¢) They protect sgamst bacteria

(d) They move mucns over the surface

Ans : (b) They make o large swrface ares for absorpriom

Structure X shows microvilh, which mereases the

surface aren for absorption of digested products 1o |
amino acids, glneose ot

Chaose  the forms in which mest plants absorb
nitrogen:

1. Proteins

2 Nitrates and mitrites

3. Urea

4. Atmospheric mtiogen

Choose the correct option.

(n) 1and2 (b) 2and 3
(¢) 3und 4 (d) 1 and 4 3
Ans i (b) 2 and 3

Most plants sbecrh nitrogen i the form of nitraves.
nitrites and urea All of these are taken np from the
soil by the plant.

Only two of the following Staternents accurately

describe what happens in the raouth.

1 Amnylase breaks down large starch moleenles into
smaller maltose malecules

2. Chewing incresses the sacface aren of food for
digestion.

4 Saliva emulsifies fats into smaller droplets

4 Tecth breskup large inschible moleculex to
smaller solnble molecnles.

which statements are correct”

(a) 1and 2 {b) 2and 3
(¢) 3 and 4 (d) 1 and 4
Ans: (a) 1 and 2

Statement 1 and 2 are correct Saliva cannot do
enulsify fats and testh do not break molecules or do
not change insoluble ones nto soluble ones They only
help n the charing of food.

. When a person ents some egg white, protems and

water enter the stomach Which substances are found
leaving the stomach sud leaving the small intestine?

Leaving the Stomach Leaving the
Siadl Intestine
(w) | Amino acids and water | Awino soids and
waar
(h) | Fatty acids, glyeerol Futty acids, glyoeral
and water and wator
{c) | Protein and water Fatty scids and
glycaral
(d) | Protein, amino acids Water
and water

Ans : (d) Protein, auine acids and water, Water

In stomach, ege white is broken down to pmne acids
It contans elbumin protein which is not completely
froken down. Some of it is farther hydrolysed i
intestine, from where mmino acids are absored by food.
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In photosynthesis, which substances are nsed np,
which are produced and whwh we necessary, but
remsin unchanged alter the veaction?

Used up Produced Remain
Unehanged
(a) Carbon Water Oxvgen
dicxade
(L) Chlarophyll | Carbon Water
dioxide
(c) Oxvgen Sturch Cellulose
(d) | Water Oxvgen Chlorophy )

Ans : (d) Used up Water, Produced-Oxygen, Remain
Unchanged-Chlorophyll

Equation of photosynthesis shows the reactants and
products:

6C0, +6H.O

Cﬂuwbu Oyl Oy + 604

What s the fiuml product of photosynthesis?

(a) Protein (b) Fat

(¢} Starch (d) Mineral salt

Ans @ {¢) Starch

The final product of photosyuthesis m planes s glucose
and water The glicose produced ts stored as starch
in storage organs.

During vigorous physical exercise, lactic acid s formed
from glucose mside the muscle cells because

(a) there is lack of oxygen

{b) there is lack of water

(¢) there is excess of carbon dioxide

(d) none of the above

Ans @ {a) there is lack of oxygen

Muscle cells 1espue snaciobically to produce kactic

saicd in the searcity of axygen during excessive physical

The following changes take place in an athlete’'s body

durimg a 100 m race. Which change oceurs first?

(a) Incressed availability of oxygen to muscles

(b} Incressed hreathing rara

(¢) Increased carbon dioxide concentration in the
Blood

(d) Incressed production of carbon dioxide by museles
Ans : (d) Incressed production of carbon disade by
musecles

In order to provide energy for 100 m race, yespivation
mcreases in athletes muoscles and carbon dioxide is
produced Le

BCO;+ CiHp Oy~ 6H, 0+ 600+ Engery

Major fimetion of contractile vacuole is
(n) Execretion (b) Cireulation
(£) Osmoregulation (d) All the above

Auns : (¢) Osmoregulation

The disgvam shows part of the humrn ges exchange

Sample Praper pdis
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system.

Bromechns | Bronchiale | Larymx | Trachea
(a) | W X Z ¥
L
(b) | X Z 4 w
{c) | ¥ W X Z
() | Z » W X
Angz : (d)

Larynx is at the beginning of trachea. After trachea,
bronchi are  found  which further branch into
bronchindes.

Instiument used to mensure blood pressure is

(8) barometer (h) potameter

{0) thermameter (d) sphygynomancneter
Ans : (d) sphygmomanometer

Blood pressure i messured by sphygmomanometer.

In which order do these events occur m human
nutrition?

(a) Digestion —* ingestion — absorption  assimilation
(b) Digestiom — ingestion — assimalation — absorption
(¢) Ingestion -+ digestion —* abgoyption = assimmilation
{d} Ingestion -+ digestion — assumlation = absorption
Ans i () Ingestion — digestion -+ abeorption -
assimilation

After ingestion, food is digested m buceal cavity,
stomach and small intestine. Then the products of
digestion, 10 glooose and amino acids are abeorbed
fram the ilemn region imto the blood which cunes
these products to body tissues and colls where
asstmilation oocurs. :

The diagvam shows the homan gut Which mumbered
structures secrete digestive enzyviws?
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{a) 1,2 3and 4 (b) 1,2 3and 6

(¢} 2,3 dond 5 (d) 2.3 5and 6
Ans : (b) 1,2, 8 and 6

1 i stornach which secretes pepsin in gastric Juice

2 s pancress which seeretes Lypsin and sy lase,

3 = small intestine in which hpase and peptidass
are scereted while 6 1w salivary gland which secretes
waviase m sadive.

6. The chagram shows the ribe snd some of the muscles
used in breathing

Right sideofheart  Left side of haart

Ans : (b)

The lungs receive low pressure of blood from right side 4
of the heart, with thinner ventricle wall ax compared
to the thicker wall of left ventncle From the lefy
ventricle, blood & pushed mto sorts (), which has
noriisl blood preswre of sbout 16 KPa, Presswie m
D = leze than £ Kpa

In the Pulmonary vein A, the blood pressure is

which munscles velax i moving from peeition X to evemless, after being passed throngh the alveclave
position Y7 capillavies.
3. Ures is formed i

D"P"‘E"’ External Intercostals (a) Liver (b) Spleen
(n} |No No (¢) Kidney (d) Lungs
{b) |No Yes Ans ; (a) Liver
(e) | Yes No . _ ]
@ | Yes Yes n &Ldngrmn shows a vertical section through the
Ans @ (d)

During exhalation, the diaphragm arches upwards as
a result of muscle rdaxation. The external intercostal
1mscles axe aleo relaxed to move the ribeage back into
position.

17, Which of the following & not a4 disorder of the
cirealatory svstem?
(n) Atherosclerosis (h) Arteriosclercsis
(c) Asthriti (d) Angina
Ans : (¢) Arthntis
Arthntis 15 the mflunmation of jonts causing pain

what are the functions of the nuobered blood vesels?

and stiffness Carries Carries Carries Carries
hlood blood blood bisod
28, Which of the following is responsible for the transpart of o frou fron
of water and mmerals from roots 1o aerial parts of the Jaey hoin L2 L
plant? (a) |1 2 3 4
l:‘). (m‘m; . (d) Both (&) and (h) © |2 1 3 1
el s @) |a 1 4 2
In woted plants, tranport of water and muncrals
oocurs throwgh xylem. Ans @ (d)

Vessol 1 is pulmonary artery and earvies blood to
lungs. Vessel 2 is vima cava and carnes blood from
body to hemt. Vissel 3 i aorta and coanes blood from
heart to body Vessel 4 i pulmonary vein and carvies
blood from lungs to heart

8. The dingram represents o part of human cirenlatory
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32. What 15 the corvect youte for blood flow in o hutaan?

(a) Left atrinm -~ Left ventricla — Lungs — Right
ventiicke -+ Right atoum

(b) Left atrimn — Left venwicle — Right ventnele
Right atrium + Lungs

{¢) Right strmm = Right ventricle -+ Left ventricle
= Left atrimin — Lungs

(d) Right atrinm — Right ventowle = Lungs = Left
atrinm  Lelt ventricle

Ans:: (d) Right atriom > Right ventricle —+ Lungs —

Left atriwmn — Left ventnicle

The correct route for blood flow in hnamans is

Right atrium — nght ventricle = lungs - left
atvinm — left ventricke

What may happen If & young plt 8 dug up and ye-
planted in another place?

{8) The leaves kose less water

(b) The roots cannot take ap wineral solts

(¢} The stem cannot transport water

(d) The surface avea of the root is reduced

Ans @ (d) The surface srea of the root & reduced
Ihggng np a plant may damage roots and affect
wineral uptake. Wilting ocenrs if roots are domnged.
Stem cau still transport water.

Which of the following is not a purpese of transpirstion”

{a) Supphes water for photesynthesis

(b) Helps i transhocation of sugwr m plants

(e} Cools leaf snrface

(d) Tramsports wainerals from the soil Lo all the pats
of the plant

Ans : (b) Helps in tramslocation of sugar in plants

Tramspiration 15 the loss of water m vapour form fram

the leaves Translocation of sugars in plant is not

performed by transpiration process.

The table shows the characrevistios of blood in one
blood vessel of the body.

Oxygen Carbon dioxide | Pressure
coneentration concentration
High Low High

which HBlood vessel contains blood with  these
characteristics?

{n) Aorta th) Pulmonsry wtery
{¢) Puhnonary vein (d) Vena cava
Ans @ (a) Aorta

Oxygenated blood s carvied back 1o the Jeft atrinm
through the pulimonary vein and s pumped into the
left ventricle before leaving the heart through the
sorta. The thick muscnlar wall of the left ventricle of
the heart contracts to generste the highest presure
pssible to pump blood into the sorta and to the rest
of the body.

Dow i CEG T mwl Sempls MWoase el trom
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36. What are the functions of the Xylem?

Carrying | Carrying | Carrying | Giving
SYEArs water mineral | support
ons
(m) |V X * &
(b) | ¢ X X
(¢) |= v v b4
(d) | x v / v

Key v = u function of xylem, X = not a fanction of
xylem

Ans @ (d)

Xylem s o port of vascular tissue which not only
SUPPOrts a stem, but also transpont water and mineral
wns. Phloam is mvolved in the transport of sudbs
dissolved in water

Excretion t5 eirmed out by vephrudie me
{a) cockroach (b) amoeba
{¢) earthworm (d) human
Ans : {¢) sarthwonm

Which chambers of lmman heart contain oxyeenatod
bleod?

(a) Left atrivun and left ventricle

(b) Left atrinm and right ventricle

{¢) Right atrinm and left venivicle

(d) Right atrinm and right ventricle

Ans : (a) Left atrinm and left ventricle

Left atnum receives oxygenated blood from pulmonmay
vein This bleod enters left ventricle before heing
pushed imto sorta in order to supply the whole body.

The process of conversion of glueese tnto pyravic acid
QeCUrE 1N

(a) mitochondria
{c) eutsde the cell

Ans @ (b) eytoplasm

During aerobic respiration, the glucose is converted
mta pyruvie acid in the eytoplasm of respiring eefls:

(b) evtaplasm
() chloroplast

Which process ocewring in luman body docs not
mvolve snergy from respivation?

(=) Contraction of heart muscle

(b) Diffusion of oxygen from the alveoli into the bload
(c) Digestion of bread

(d) Mantsimng o constant body temperature

Ans : (b) Diffusion of oxygen from the alvech into the
blood

Exchange of O; and CO, at the site of alveoil ocours
due o diffesion gradient as the inhaled air corics
more Oy than blood and blood contams more CO,
than the atmosphenic air. Processes in othey options
are all energy requiring

The sites of exchange of wastes nutrients, gases and
hormones between the blood and body cells are the
(a) arteries {h) arterioles
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(¢) capillanes (d) vedns

Ans 1 () eapillaries

The rate at which oxvgen moves fraon the alvels of

our lungs into our blood:

(a) depends on the difference in oxygen concentyation
between the alveoli and the blood.

(b) depends on the color of the alveoli

() depends on the availability of energy to tyansport
gases across the membyane.

(d) none of the ahove

Ans : (a) depends on  the dilferenco o oxygen

concentration between the alveolt and the hlood

The fanction of the glomemlus and Bowman's capsule
uf the nephron s to:

(a) reabsorb water into the blood

(b} climmate smmonia from the body

{¢) veabsorb salts and amino scids

(d) filter the blood and capture the filtrate

Ans : (d) filter the blood and capture the fltrate

Structural and fimetional unit of kidney i

(w) rennl pelvis (b} nephridin
{c) nephvon {dd) hilum
Ans @ (¢) nephron

Nephron i2 the stractural and fanctional unit of
kudney

. Choose the mcomrect pair

{a) Ultrafltyation-Glomernhis

(b) Concentration of urine-Collecting ducy

(¢) Transport of urine-Ureter

(d) Storage of nrine-Urinary bladder

Ans 1 (b) Concentration of nrive Collecting duct,
Concentration of urme takes place m Henle's loop not
in collecting duct.

The dingram shows parts of a lowering plant. Where
does the most transpiration take place”

Auns 1 (b) Lower surface of kef

Smee, lower surface of leal comtams most of the
stompata, water vapours movwes ont of stoma This
increases transpiration rate

The corvect order of afr veaching fromn atinosphere 1o

the lungs is through:
{a) external naves larynx, trachea and air sac

1<

(b) Jaryx, trachea, air sac and external nares

(¢} trachea air sac extermal naves and larvox

(d) air sac, trachea, larynx and external nares
Ans : (a) external naves, laryny, traches and air soe

In the figure given along side. the strnetures associated
with humnan kidueys are msrked (X, ¥ and 7) The
relative comeentrations of weea in Lhese structures s

(8) X w sometimes higher thun Y

(B} ¥ is always higher than Z

() Y is always lower than Z

(d) Z is sometimes lower than X

Ans 1 (e) ¥ is always lower than Z

Structure ¥ is renal asrtery which transports nvea
from the body tssnes to kidney for removel Aftex
filteration from blocd in kidneys, concentration of
uren meresses o owater (Z) contaming wime thus,
maimtaining 4 constant lovel

43, The disgram given below represents the liver, kidney

and some associated blood vessels. Identify the vessel
from the lobelled parts A- D in which the blood will
contain the lowest concentration of ures

Lp{-_l.;—)-'zj

(a) A (b) B
© ¢ Q) b
Anz: (c)

When the Kiduey filters the blood, venal vein, (e part
£ has the lowest comcentration of nvea.

Proteins —-» Peptones
Identafy the euzyme A mvolved in the shove veaction,

{a) Salivary amylase (k) Bilas puice
(¢} Pepsin (d} Lipase
Aus ¢ (o) Pepsin

Proteins present in food are converted to peptones
with the help of pepsin enzyme It is secroted by
gostric glands found m stomach wall
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81 Digestion of food in lmman starts from: 86. The movernent of water and dissolves] winerals from

Downlosd sieeet (10000

(a) Duodenum (b) Small mtestine the roots of the leaves is best explained by
(e) Month (d) Large intestine (&) Cohesion-tension theory
Ans - (¢) Month (b) Translocation

Which one mdicates hypertension or high Blood

{c) Tensile strength
(d) Pressure-flow hypothesis

Pressure (BP)? Ans ¢ (a) Cohestom-tension theory

(a) 120/80 (b) 110/70

() 150/80 (d) 140/80 51, Which of the Bllowing is not a component of plasma?
Ans @ (d) 140/90 () water (b) globuling

Person  having  blood pressure  140/90, shows (¢} fibrinogen (@) Placeletr

hypertension or ligh blood pressure. The normal
blood pressare for humans is 120/30.

An experniment = set up as shown. Flasks | and 2
contain lime water  Air s pumped through the flasks.

Ans : (d) platelets

Figure given below is representing the dialysis machine
for removing nitrogenons wastes in patent with a
kidney failuve

BIO0 Ot ==
Dralysis fluid in
Nﬂmw FMH which substances ont of the following in the dialysis

ubm

What 15 the appesrance of hme water in flasks | and
2 wfter p period of ten mmutes?

fluid should be at a lower concentration than in the
Blood of patient?

(8) Ghncose and urea

(h) Glucose and ammo acids

{v) Salts and urea

Flask 1 Flask 2 :’:‘G"‘:";“"d ‘:‘”“
() O . The'd(icl ‘:1::1 “m:m gl tex, d
nlysis containe ghwose, waler, jons an

(b) | Clea White/Cloudy various substances in the same concentration as the
() | White/Clondy Clear Hood except uren and excess salts, which have low

/ 7 concentration in the dialysis fluid when compared to
() | Whita/Chondy Whits/Gloudy blood. Urea 1s a mtrogenous waste 1o be removed from
Auns : (b) the bedy along with the excess salts

Living animals respive and produce enrbon dioxide
which causes lime water in flask 2 to become milky
white, Potassium hydroxide solution m flask 1 absorh
carbon dioxide but yernains cleay.

Flame ceils are the excretary stractures in

(a) arthvopods (b) platyhelmmihs

(c) anneehids (d) crustaceans

Aus : (b) platyhelminths

Flame cells we the excretory orguns of cigamsmes
belonging to phylam Flatvhehninthes

Dialysing nnit (srtificiol kidney) contams afluid which
15 almest same as plasmn excopt thar 1= has

(=) high glueose (1) high nres

(¢} no urea td) high urie acid

Ans : (¢) no urea

The diadvsing fluid hes the sane composition as that

of blood plasma except that it 15 devoid of nitrogenous
waste such as urea.

wcd Sumgem s aspes pelfs rom

Vems can be differentinted from artevies becanse the
vems

{a) hove valves {b) have hard walls

(¢) have pure blood in them(d) lave thck walls

Ans : () have valves

Mest often during » kadney disorder, the colour of
wine chonges from vellow to others A patient is
secveting davk colured urine which tums to blne or
Dlaek later This is dne to the presence of which of the
Tollowing™

(a) Homogentisic acid

{e) Coproparphyrin

Ans : {8) Homogentisie acid
The build wp of homogenotisie acid in body occurs
due to a rare genctic disorder ie. Alkaptonuria. Thi=
causes the unne to yun dark blue or black when
exposed to alr

(b) Methaecmoglobin
(d) Both (a) und (b)

i ; Page 47



Chap 6 . Lafe Provess
§). Mam excretory organ of hanans is
(a) kidney (b) lungs
(¢) skin (d) liver
Ans : (&) kidney
Kidney i the msan excretory organ of hmnsn bemgs,
while other act as accessory excratory organs

§2. Which of the following 5 nsed in mannfscturing of
vormshes, glazing agents, etc?

(a) Tommin (b) Resins
() Essontial ofl (d) Rubber
Ans : (b) Resins

Resins ave nsad in manmifacturing of varmshes. glozing
agonits, elo
§3. In amoeba the digestiom 15 intracellulur becouse:
(a) Amoeba is unicellulay
(b) Amoeba iz multicellnlar
(¢) Amoeba is fmm’dv-in a pomd
(d) Amoeba 15 a microscopic animal
Ans : (a) Amoeba ts unicellalar

4. Ubserve tho figure given below which represents the
control of waler concenteation m the blood.

Wminbhodﬁsing}——

Water in blood falling More water
in uriue

P — — s P

(s} To excrete ures
(¢) To produce anme (d) To store mine

Ans : (d) To store nrme

"X given in the disgram is the part of hinman excretory
system called urinory bledder. Its psn function 15 to
stove nrine temporarily il it passed out through
urethra

Exsmple(s) of liquid waste product in plants is/ave
(8) rubbes (b) vlove wil

(r) gum (d) All of these

Ans : (d) Al of these

All of these given options are examples of haguid waste
products in plants.

. A healthy woman conswines a htre of water at once.

1 How will be the mtornal envivonment of her body
affected by thas?

2 A corrective measuve 1o bring the srising conditom
to normal state is.

Seleot the correct option for (i) sud (i) from those

given below:

Less warer in uring

Thiz is negative feedback system becanse

(a) It decreases the amonnt of water i the blood

(b) It mereases uny chenge octurring i the sagount
of water in the hicod

(¢) 1t reverses any change oceurring in the amount of
water in the hlood

(d) It increnses the amonnt of water m the blood

Ans: (¢) It reverses any change occunving m the

amount of water in the hlood

The figwmie tepresents negative feedback control of

water comcentrstion in the blood. This system vegulates

any change that ocews in water conventration of the

blood through feedback mechanism.

65, What 15 the term used when vessels open und Jet more
blood throngh”
(n) Vasoconstriction {h) Vasodilatation
() Incressed povmesbility  (d) None of these
Ans @ (b) Vasodilatation

86. The diagram given along side shows the hmman
excretory system, Identafy the function of part labelled

Downlond all GUIDE and Sampie Paper peis

(1) (i)
(a) | Plasmoa becomes Concentration of the
dihived urine formed.

(b) | Osmootic pressure of | Tncrease in the
the plasma decreases | vohime of urine

formed,
(¢} | The body colks Luss water is
underge shrinkage reabzorbed by the
Kidneys.

(d) | Osmotic pressuve of | Fonmation of dilute

the plama increwses | urme oceurs,

Ans ; (b) GFOsmotic presure of the plasma decreases,
(1i}- Incyease in the vahmie of nrine formed

When o healthy person consmmes very little water, the
cematic pressave of the plasma will decrease dne to
mereased arnount of water. As a result, the body will
merease the volame of urine formation. The woran
wonkd thus, have to urnste {requently.

The breakdown of pymvate to give carbon-di-oxide,
water and energy takes phice

(a) eytoplasm (b) mitochondris

(¢) chloroplast (d) mcleus

Ans @ (b) mitochondria

. Digestion of starch starts from:

(a) Stomach (L) Intestine
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(¢) Oesophagas (d) Mouth

Aus ; (d) Mouth

The process of transpiration m plants helps in:
(n) Opening of stomats

(b) Absorption of OO, from atmesphers

(¢) Upward conduction of water and minerals
(d) Absarption of O, fom atmosphere

Ans : () Upward vonduction of water and minerals

Root capilunorolein water shsorption because:

(8) It hos no ditect conmection with the vascular
sysbein

(b} It has no cells containing chloroplasts

() It has no roor hairs

(d) It has loosely arranged oells

Ans : (0) It has no root haits

Which substanoes will be present in the glomerular
filtrate from the kidneys of a mammal?

Glucose Protein Salts
(a) |V s x
(b) | x v J
(c) |V % v
(d) |'x E v
Key v = present, < = absent
Aus : (c)

In mammals, the gloanerular flterate vall consist of
glncose and salts by the filteration of blood plasina
The proteins are not present i glomernba Altarate
becanse they ave relatively larger in physical size.

1. In human. the nght limgis . .. . lobed.
Ans: 3

2. Carbonic anchydrase ragulates the formation of
Ansz : bicarbonates

3. Proncapal waste product of metabolism in humans is
Ans : Water

i et valve sepsrates the left atnwn fom the left
ventricle.
Ans @ tricaspid

8 Dnergy richcompound generated during photasynthesis
W2
Ans : ATP

6. Nimety perrent of the water lost by the plants durmg
transpivation is through the of the leafl
Ans @ stomata
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7. Blood cirenlation i humans iscalled .. circulation
Ans ¢ double

B Pressure i the arteries during ventncular relaxation
is called pressure
Ans : disstolic

L i are vegarded as coanpleta photosynthetic units
of plants.
Ans ¢ Chloroplasts

18, Stwreh changes bluem solution
Ang ¢ iodine

M . are the lymphatic capillanies arsing from the
=mall intestina
Ans @ lacteals

.

BANES L are fat solable vitaming
Ang : Vitamin A, D, Eand K

13. Two . . .. are present on both sides of the stomata.
Ans : gard cells

. Largest digestive gland in the human body is
Ans : liver

13. The stimctural and functional units of lungs s ..
Ans : alveoli

16. The .. . . prevents the entry of food mto the
respiratory tract,
Ans : epiglottis

oI (of bile jnice) help in emulsification of fats
Ans @ Bile salis

MW oo | waste s renoved by diffusion
Ans : Kidoey

18, Synthesis of ATP using light energy in photosynthesis
|- R R
Anz : photophosphorylation

20. Diffusion ts insufficient to meet requiverment of
multivelluls orgnnisims Tike bumnns.
Ans : axygen

: 1 e node s present ness the opening of supernior
and inferior vena cavae
Ans ¢ Sim-anricnlar

22. A plant pignent known @ is involved in the
phenomenon of photoperiodism.
Ans : phytochrome

2. Manis ... m mialion

Aus ; heterotrophic
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oo imvolves  the intake of complex material
epared by other crganisins,
Auns : Hetarotrophic

Contraction of heart 1= known as ...
Ans : sysiole

The major lunction of the
LENSPORL oXYEen
Ans :ored

The wsemiliquid mixture of partially digested food
found in the stoach is ealled
Ans : chyme

The fonctional wmnt of the mammadinn kidney 15 the
Ans : nephron
.. are the solid bodies infmilainwhchwmﬁ

stoverd.
Ans ¢ raphides

.. veims pour their . blood into left atvimm.
Ans ¢ Pulmonary, oxygenoted

Glomerulos occurs in . . capsule.
Ans i Bowrnan's

Kidney climinate the excretory waste malerials as
their aqueons schition, called
Auns : urine

......... movemnents occur along the gut,
Anz @ Penstaltic

Second heart sound heard as . ix due to closure of
valves at the beginming of ventnenlar disstole
Ans ¢ Dup/Dubb, semilunar

The thin double walled sac enclosing the heart is
Ans @ pericardinm
Riugs of present. in  trachea, bronchi and

bronchioles  prevent their collapse when an s not
passing thromngh themn

1

Fermentation 1= s form of serobic vespumtion.
Ans : False
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The Tactenls vontam nbsorbed carbohydrates
Ans : False

Teeth are the only part of the digestive system thot
physically bresks down food.
Aus : False

The loss of water by a plant & called transpivation.
Ans : True

Blood & not u tissue becsuse it is a fud.
Ans: Folee

Bowman's eapsube s foond m heart
Ans ¢ False

Arteries ave the widest blood vessels.
Ans : True

Birds and mammals have tow-chambered heart.
Ans : False

Grass-eating snnnals neod & langer suall intestine 1o
allow the celllose to be digested
Aus : True

Only anunuls have ussues,
Ans : False

Some organs are used i more then one system.
Ans : True

Fishes vespire through skin.
Ans : Falwe

Translocation s the Wwansportation of the products of
pharosynthesis
Ans : True

Essential amino acids cannot be synthesized in haman
Body.
Aus : True

Stretching of mner wall of gumd cells, open the
Stomats
Ans : True

The svsters in an organism work indepandently
Anz o False

Veing are thick walled
Ans : False

HRezpiration i the only source of energy for all
CYRGRISIDG.
Ans ¢ Fabe
Carbon-ch-oxxde

capnot  be  transported  with

\
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hacinoglobin.
Ans : False

In a gemeral sense. digestion is simply hvdrolysis of
complex polvimers (O monciness.
Ans : Toe

Lemeocytes play an important role in blood coagulation.
Ans : False

. Cireulatory svstem also performs the function of

homeostasis
Aus : True

In humans, protein digestion = completed in the
month
Ans @ Falee

Only the multicellular vigmansms requne transporting
mechanisms.
Ans : False

Extemaltapimﬁmma‘ybecalhdhm:hmg_
Ans = True

The exchange of nutrients and waste products between
the blood and cells ocenrs within the soterics,
Ans : False

In homans, the alveoli we the hanctionng amts of
external respiration.
Ans : Te

Trypsin digests proteins into aming acids
Auz @ False

Living organisms mnst maintain & constant inteynal
environment,
Ans : True

. Deficiency of folic acid causes scurvy.

Aus : False

A complete digestive tract consists of an oral and an
anal opening.
Ans ¢ Trae

Stornata are Hny pores present on the surface of leaves.
Ans 1 True

The liguid portion of the blood is colled plasyon.
Ans 3 True

Generally gravitational water 15 utilized by the plants.
Ans 1 False

Humans have an open cirenlatory system
Ans : False

36, In photosynthesis. carbon-di-oxide is given out by
diffusion process
Ans : False

DIRECTION : Each gyuestion contmns statements given in
two columns which have to be matched Statements (A, B, C.
D) m column [ have to be matched with statements (p, q. . s)
in column I1

1

Colwmmn 1 Colwumn 11

(A) | Nutniticn (p) | The increase in
cell sime and for
number

(B) | Syathesis (q) | The movement of
materials within
the cell or within
the organlnn

(C) | Growih (r) | The process of
obtaining food
() | Transport (#) | Combining small
molecules to
create larger
more complex
rnclecules

Ans : Ar Be Cp, Dq

2

Colmm 1 Colmm I
{A) | Regulation (p) | The removal of

motsbolic waste
from an organism
(B) | Reproduction (1) | The chemical
process of
oadizing ovganic
molecules to

(C) | Respiration (r) | Ther replication of
an organismn

(D) | Excretion (s) | The contyol and
coordination of
chemical processes
within the
organism

Ans : Ax Br, Cq. D-p

Colmm I l Colmnu 11 ]
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(A) | Stomuch (p) | The stoacture is
the site where
the chemical
treakdown of
protens first
OCCNTs

(B) | Large intestine (q) | This orgen absorts
most of the

water from the
undigestexd food

(€) | Smadl intestine (v) | This crgan is the
section of the
aliment ary canal
where most of the
food 1 absorbed
mto the blood

(D) | Exeretion (s) | This organ secretes
the chemical Iale,
winich i used 10
crnulsily fais.

Aus ¢ Ap, Bog, Cv, D-s

4
Colunm I Colaonn TT

(A) | Pancrens (p) | This organ secretes
the chemival
omzymes amylase.
professe and lipose

(B) | Rectum {q) | This is o stovage
site for faces before
being egested from
Lthe bady.

(€) | Ocsophagus {r) | This tnbe structure
trnnsports food
from the oral
cavity to the
stomach.

(D) | Oral cavity (g} | The structure
where mechanical
digestiom of food
first occurs

Ans: A-p. Bq, Cr, Dz
s
Coluun I Cobuun 11
(Animal) Respiratory Orean)

{A) | Fish (p) | Teachea

{13) | Birds (a) | Gine

{C) | Aguatic (r) | Lungs

(1) | BEavthworn () | Moist enticle

Ans : A, B-r, C-p, D-s
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5.
Colun T Column 11
(Region of digestive | (Digestive Organ)
system)
(A) | Mouth (p) | Psncreatic juice
(B} | Stomach () | Intestinal juice
() | Duodeum () Gastric juice
(D) | Sisall imtestine (s) |Sahva
Ans: As Br, Cep, D-q
2
Caolunm 1 Columnn IT
(A) | Autotrophic (p) | Leech
{B) | Hatetraphic (q) | Paramacciim
nutrition
(©) | Porasitic mutritrion | (r) | Deer
(D) | Digestion in food | (s) | Gresn plant
vaculoes
Ans: As By, O-p, Dgq
8.

Colmm I Colwm 11
(A) Phlocmn (p) Fixeretion
(B) Nuophrem (a) Translocation of

food
() Veins (r) Clotting of blood
(D) Platelets (s) Deoxygenated
hload

Ans 1 A(g), B-(p), C-(s), D-(r)

DIRECTION : The following guestion consist of  two
statements - Assertion (A) and Reason (R} Answer these
questions selecting the appropriate option given below.
(a) Both A and K are frue and R is the corect
explanation of A
(b) Both A and R arc true but. R is not the correct
oxplanation of A,
{¢) A is true but R is false.
(d} A is false but R s tiue,
(e) Both Assertion and Reoson are false:

1 Assertion :on the dastime, CO; generated during
respitation s used up for photosymthesis.
Reason : There is no CO4 release during day.
Auns : (a) Both A and R are true and R is the corneet
axplanation of A

In night, dark resction of photosynthess ocours, n
which the products of hight resction, ie. CO; ATP,
NADPH snd HaO are utilised. CO; is reduced for the
production of carbohydrates
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2. Assertion : Row materiake needed for phatesynthests L. Assertion : Energy is used duving the process of

are carbon dioxide. water sod nuncrals.
Reason : Nutrients provide energy to an organism
Ans : (b) Both A and R are trme but B is not the
vorreat explanation of A

Raw materials needed for photosynthesis are carbon
dioxide, water and mineralks like nitrogen, phosphorus,
won and magnesium.

Nutrients are the substences regquired for propes
growth and muintenance of a fiving body but they
provide energy 1o an organisn

Henece, both Assertion and Resson are tine, bnt
Reason 1s not the comect explanation of Assertion

Assertion : Lungs always contain o residual vohlime
of mir.

Reason : It provides sulficient time for oxygen to be
absorbed and for carbem dioxide ta be releasod.
Ans : (a) Both A and K are true and R is the comect
explanstion of A

Dunng the breathing evele, when wr i taken in and
let out, the lnngs always comtan a residoal volome
of mir It provides sufficient time for oxygen to be
absorbed and for carbon dioxide to be released.

Both Reason and Assertion are tre and Reason
is the correct explanation of Assertion,

Assertion : Transpuation s a necessary evil
Reason : It canses warer loss but helps in absorption
and upward movement of water and minerals.

Ans : (s) Both A and R are true and R is the correct
explanation of A

Tronspiration 1§ o necessmy evil. It 1% 2o betanse
water is lost in the form of vapours fram the acnial
parts of the plant throngh transpiration But, it helps
in absorption and upward movement of water and
minerals creating transpimation poll

Assertion : Translocation of sugar oceurs through the
phloem.

Reason : It is achieverd by diffusion of sugars through
phloem

Ans i (¢) A s boue but R ois false

The tramspart or moveraent, of soluble produets (sngw)
of photosynthesis from leaves ta other parts of the
plant is termed as tranglocation. It oceurs m the pat
of vascular tigsue known as phlosm The tanslocation
in phioem is maanly schicved by utibsing enevgy by
expenditnre of ATP

Assertion 15 true, but Reason s false.

Assertion : Dhgestion breaks large complex molecnles
ta simaple smalley moleenles which can be easily
absorbed,

Reason : Digestion is necessay for the sbsorption of
all molecules

Ans: (c) A s true but R is false.

Digestion breaks large complex organie molecules: o
simple smaller ones which can ba easily absorbed
However, certain molecules such o5 glicose, vitamun ©
et do not need any digestion before their absorption
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respiration.
Reason : Hespiration stoves energy i the form of ATP.
Ans : (d) A 15 false but R s true

Respiration mvolves the oxidation of glhiesse mside the
mitochondria to produce energy, which is stored in the
high encrgy bonds of ATFP malecules as biologically
useful enerpy.

Assertion : During physiology  of  excretion,
deamination does not take place in Hver

Reason : Desmination is a process to make use of
excess of amino acids which cannot be incorporated
mto protoplasm:

Ans @ (d) A is false bt R is true

Assertion : Egestion is the remaval of nitrogenous
waste products fromn the body

Reason @ Excretion 15 the dischage of undigested
matter from tha digestive tract

Ans @ (¢) Both Assertion and Reason are false

Egesstion is the discharge of undigested matter from
the digestive tract ma amus While, excretion i the
removal of nitrogenous waste products from the body.
Thus. both Assertion and Reason are false

Assertion : The nmscular walls of ventricles are thicker
than auncles

Reason : This helps in preventing the buck flow of
blood.

Aus : (c) A is true but R s false

Since ventricles have to punp blood into various
organs, they have thicker muscular walls than atra
do. Valves prevent back flow of blood.

Assertion @ In humsn heart, there & ne mmxng of
oxygenated and deoxygenated blood

Reason ¢ Valves sve present i the heart which allows
the movement of hlood in one divection anly.
Ans : (b) Both A and R are true bot R ois not the
correct explanation of A,

There is no mixing of oxygenated and deoxygenated
blood due to presemce of inter-annicular and inter-
ventricular septum. On the other hand, velves are
present in the hemt which allows the movement of
blood in one divection only.

. Assertion : In woody plants, gaseone exchange ocenrs

through lemtioels

Reazon : Lenticels are specialised cells found along
with stomata an the stem of woody plants,

Ans : (o) A is true but R is fulse,

In woody plants, gascous exchange ocours through the
small pores fomd on stems called lenticels. Stomata
on the stem aid 10 gaseous exchange, in herbaceons
plants

Asserfion s true, but Reason 15 false.

Assartion : Excratory mmit of kidney is nephrons
Reason : It has no vole n seeretion of urine.
Ans t {o) A is true but K is [alse
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Nephrons sve the basie filtiation unit of kidneys. They
carty out filtvation, selotive reabsorption and tubular
secretion to from urme in kidney, which is then passed
out through the ureéthra, vin the meters and wtinary
bladder.

Assertion : Muscles of stomach wall possess thick
layers of muscles

Reason : These mmscles help i snixing the food with
the enzymnes presents in the alimentay canal.

Ans @ (») Both A and R are true and R is the correct
explanation of A

The lming of alimentary cannl has muscles that
contract rthythmically in order te push the food
forward This is known ss penstaltic movement.

Assertion : Artificial kidney 15 a device used to remave
nitregencns wasta products from the blood through
dinlysis.
Reason ¢ Reabsorption does not occur in artificial
kidney.
Ans: (b) Both A and R are true bt R is not the
oorrect explarmation of A
Kidney failure can be mansged by artificial kadney, It
iz n device used 1o remove nitrogenons wiste products
from the bleod through dialysis.

Artificial kidhey is diffecent from natural Kidney
ss the process of reatsmiption does not ocvcur m
artificial kidney

Both Assertion and Resson gie true, bt Reanson
is n&t the corvect explanation of Assertion

Assertion : Respiration is a biochemicsl process
oppusite to photosynthesis.
Reason : Energy is released during respiiation:
Ans: (o) Both A and R are true and R is the conect
explanation of A
Respiration s defined as the process of biochemical
oxidation of nutrients at cellular level It eours i the
presence of specific enzyvines ol optimun tempersture
in the cells to release energy for varions metabolic
netivities,

Bath Resson and Assertion are tiue and Reason
5 the vonteet explanstion of Assertion

Assertion : The release of enengy in serobic process s

much more than m anserobic process.

Reason : Each ghicose molecule produces 2 malecules

of ATP and 38 molecules of ATP in aerobic and

snaerobic respiration respectively

Ans : (¢) A # true but K is false

In serobic process, 38 moleenles of ATP released per

one glucose molecule is mmich more than the 2 molecules

of ATP per one glucose malecule in anaerobic process.
Assertion s trne, but Reason is false,

Aszsertion : In plants there is no need of specialised
respuBlory CrRuns.

Reason : Plants do not have great demands of gaseons
exchange.

Ans : (a) Both A and R ore true snd R s the correct

Dawndoad all GUIDE and Sample Maoer odls

19.

1

26

L (ol S i > o

explanation of A,

Assertion : Plants have low energy needs

Reason : Plant bodies have large proportion of dead
cells

Aus : (s) Both A and R are true and R i= the correct
explanation of A

Because plants have o large proportion of dead cells in
many tissies So, their energy neads are low and they
ean afford to have slow transport svstem

Assertion : Walls of the imtestine has mumerous villi
Reason : These villi inorease the surface wrea of
dhgestion

Ans : (¢} A is true bat R s fake

All the digestal food is taken up by the walls of
intestine, which has mumerous villi These mcreasa
the surface area of absorption. Assertion is true, but
Reason is false.

Assertion : Mitochondria help in photosynthesis
Reason : Mitochondiis have enzymes for dark reaction.
Ans : (d) A is fulse but R is true

Assertion : Blood pressure i artenial blood prossure,
Reason : It 18 measured by sphygmomanometer

Ans: (b) Bath A snd R are true but R is not the
correct explanation of A

Assertion : Lymph. slso known os tisue flnid s
colourless.

Reason : It lnckes erythrocytes.

Ans : (n) Both A and R are true and R & the cortect
explanation of A

Lymph is similar to plasma of blood but is colourless
due to luck of ervthrocytes.

Erythrocytes contsin haomoglobin, which impsrts
red colour to blood e to its absence, lymph is
volont bes.

Assertion : The mam ogan of humaa exeretory
system is kiduey.
Reason : Kidneys perform the function of removing
excess water and nitrogenons wastes from the body.
Ans : (a) Both A and R are true and R s the correot
explanation of A
The main organ of hnnan excretory systein is kidney
The major function performed by Kidoeys & to remove
excess waler and nitrogenons wastes from blood in the
form of wine.

Thus, hoth Assertion and Reason are true and
Reason is the conect explanation of Assertion.

Assertion : Lipases help in emulsification of fats
Reason : Lipases hydrolyses fats and vils

Ans ¢ (d) A s folse but Rois true.

Bile helps m emulsihication of fats whereas lipases are
the enzsines which hydralvze fats and oils

Assertion : Humans are not truly serobic.

‘Reason : They produce lactic scid nanerobically
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Ans : (b) Both A and R ate true but R is aot the
oorrect explanation of A

Homan  are  aevobieslly  rezpiting  suimals,  but
sometimes anasrobdc  respivation takes place in
vertam tissues like sheletal muscles, which do not get
immediarely as much oxvgen as it requives Thevefore
the muscles respue snsorobically and produce lactic
ackd from glucose.

Assertion @
photosynthesis
Reason : Rute of espiration in dack and light 15 almost
same in all plants

Amns : (d) A is false bnt K & trne.

Photorespivation  decyeases et

Assertion : HCl comverts pepsinogen into  active
CHZYHR PUpsin.

Reason : Pepsin converts protein into protecses and
peplones

Ans: (b) Both A and R are tiwe but R is not the
corvect explanation of A

HOl crventes an acidie medinm, wlnch facilitates the
action. of the enzyme pepsing The active enzvine
pepsn converts protuins mto protecses and peptones,

Assertion : Awtotrophic matrition ccenrs ino green

plants.

Reason : Green plants sell-mamifaciure their

Ans : () Both A snd R ave true and R is the correct

explonation of A

Autotrophic nutrition oceurs in green plants Food is

self-mmfacturad by thean ssmg CO,, bght energy

trapped by chlorophyll and water us raw materials.
Both Assertion and Reason ave true and Reason

18 the correct explanation of Assertion

Assertion : Haemoglohin s the respivatory pigment
in hunan beings.

Reason : It transparts oxygen in the huaroan body.
Ans ¢ (8) Both A and R ave troe and R is the corvect
explanation of A

Heemoglobin s the respiratory pigment in hamnan
beings It takes up oxvgen from the air i the hings
snd varries iU to Ussues.

Both Assertion and Reason ave true and Reason
is the correet explanation of Aserton

Assertion ; Interaunculur septum separates left from
right atrimn.

Reason : [nferventricular septum separates left from
right ventricke.

Ans : (L) Both A and R are true but R is not the
correct explanation of A

Theve are four chambers of the heart. The left snd
right atria are separated by an interauricular septun.
The two inferior chambers of the heart, te | right and
left ventricles are separated by an interventricular
septurm,

Assertion : Blood of msects is colomless,
Reason : The blocd of msect does not play any role in
transport of oxygen.
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Ans : (b) Both A and R are true but R 15 not the
correct explanation of A

Assertion ¢ AJl the arteries carvy oxyvgenated blood
from the heart to vanous organs.

Reason ¢ Pulmonary vein eamies deoxvgenated blood
to the heat

Ans : {2) Both Assertion and Reason axve false.

The avteries cany oxvgenated blaod from the heart to
vuions organs. excepl pulmonary artery.

The veins collect deoxygenated blood  from
different organs and bring back o the hewrt, except
palmonary vein

Both Assertion and Reason ate fake

Assertion : Human body prodnces highly toxic
substances, which if not elninsted mny cons the
death.

Reason @ Dxeretory sabstance yemoves nitrogenous
waste from the body

Ans: (b) Both A and K are true but i i pot the
correct explanation of A

The biclogical process which involves the removal
of harmhil metabolic wastes from the body is ealled
excretion. Il these hanmfal wastes nre not removed
from the bady, then it may canse the desth of the
OrZATIsInS.

Assortion : Amoeba is an amnivore organism

Reason : Lion is 8 carnivore organism,

Aus : (b) Both A and B wre true but K 15 not the
cortect explanation of A

Amoeba is an cmnivore organisim, its mode of uutrition
s holozoie. Lion is & caanivore organisim because it
eats other animals (meat eaters), Both Assertion
and Resson are true nt Renson s not the correct
explanation of Assertion

Assertion : Liver is known as the smallest gland of
the body

Reason : 1t secrotes salivary amylase

Ans : (¢) Both Assertion and Eeason ave false

Liver s known as the lmgest ghad of the body, which
seeretes bile juice Salivary galnds secrete salivary
amyvlase Both Assertion and Reason are false

Aszertion : Carbohydrate digestion mainly takes place
in sionll mtestine

Reason : Pancreatic juice contains the enzyme lactase
Ans : (b) Both A and R are true but R is not the
conect explanation of A

Assertion : Valves are present m the srteries.

Reason : Arteries esiry oxvgensted blood from heart
1o different by parts except pulmonary artery

Ans : {d) A 1= false but R s true. :

Valves are absent in arteries, whereas it is present in
veins, which prevent back Bow of blood.

Assertion : Plants lack excretory organs
Reason : Plants nsually absorb essential nutrients
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Axns : (b) Both A and R are true but R 15 not the
correct explanation of A

40. Assertion : Haenwdialysis can save the life of patients

with kadney failore.

Reason 1 Wiste products like uven can be remoovecd
from the blood by haemodialysis

Ans : (n) Both A and R are true and R 15 the correct
explanation of A

In cose of kidney falure, haemodinlysis s the process
of purifying blood (or removing waste products liko
ures) by an artificial kidoey. This can ssve the hife of
the peaticent

Assertion : In hmmans. major smount of water is
absorbed by the tubular part of nephron.

Reason : Absorption of water depends on the dissolved
waste 1o be exoreted from the body

Aps : (b) Beth A and R are true but R 15 not the
correct explanstion of A,

Major mmount of water is selectively reabsorbed by
the tubular part of nephron v hamans 1t depends on
the amount of excess water present i the body wnd
dissclverd waste to be excreted framn the body

. Asertion : Photassnthesis is an snabolic process.
NMeasan : The process of photosynthesis ocours in
chlorophvll
Ans ¢ () A tue but R s false.

Photesynthesis is an anabolic process as it takes CO,
and H.O then nssemobles them mto gluose  The
process of photosynthesis occurs in chloroplast,

. Assortion : In huinsns, there is o conplex vespiratary
systemn.

Reasen : Humon skin s mopenneable to gases

Ans: (b) Both A and R are troe but R is not the
correct explanation of A

Humons need more oxveen to maintsin their high
metabolic rates, Thus a complex respualory system
has evolvad so as to meset this need.

8. Assertion : Alveoh contwn an extensive network of

Hlood vessels.

Reason : Alveoli s the site where exclinge of gases
ocenrs, :

Aus : (1) Both A and R are trie and IR i the cotrect,
explanation of A

The alveoli of lungs are richly snpplied with blood and
are the sites where exchange of geses (Opnnd COL)
vecnrs betwern blood snd stimosphere

85, Assertion : Excretion is the biological process by which

harmaful wastes are remcvind from an organiam’s body.
Reason : The mode of excretion 15 completely same in
both wivicellabar and mnlticellular organisms.
Ans : (0) A is tre but R is false

Excretion is the biclogieal process by which harmful
metabalic wastes ave removed from the body. The
mode of excretion 1 completely different in unicellnlar
orgnmisms o imicellnlar organisms. wasto products
are diffused imto surroundmg water thpough body

Downlord all GUHDE and Sanple Papor pdfs (rom

surfuce. While, in muolticellula crganisins. specinlised
organs performn the function of excvetion  Thus,
Asertion s trae, but Renson s false

Assertion : Plants excrete yaztious waste products
varing their life processes.

Reason ;: They produce urew just hke humsas.

Ans : (€} A is toae but R s folse

Like human beings snd other arganismos, planis also
exerete varions waste products duning thew life processes.
The waste prodocts nchide guns, CO, O, resins
Urea i produced in humans liver und excreted
in the form of vrme throogh wethra Plants do not
produce mea.
Thus, Assertion is true. bat Heason is false

Assertion : In aneerobic respivation, one of the end
praduct iz alcohal

Reason : There s an meomplete hyeakdown of glucose:
Aus i (a) Both A and R are tiwe and R is the correct
explanation of A

. Asszertlon : Bile ix essential for digestion of lipids.

Reason : Bile juice contains engyines.
Ans: (¢) A s time but R s false
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